


d. Flourine
8. Which of the following has smallest radius?
acls
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13. Isopropyl bromide on Wurtz reaction gives
a. Hexane
b. Propane B s S PR
c.23-dimethylbutane
d. Neo hexane sbwadtsty &

,;;14 Which of the following compounds is formed when ethyne is passed through red hot
lmntubeatTT.?-K. B S

16. Given below are two statements labelled as Assertion (A) and Reason (R)
Assertion (A):Alkanes are soluble in water.
Reason (R): Alkanes are nonpolar in nature..
Select the most appropriate answer from the options given below:
a. Both A and R are true and R is the correct explanation of A

b. Both A and R are true but R is not the correct explanation of A.
c. A is true but R is false.

o/ A is false but R is true,
17. Given below are two statements labelled as Assertion (A) and Reason (R) 1
= Assertion(A): In Friedel Crafts synthesis AlCl; is used, it
S e AICI heblhlyncmﬁngelmmle



a. Both A and R are true and R is the correct explanation of A :
b. Both A and R are true but R is not the correct explanation of A.

c.AisnuahutRisfaIse. " l_}"j;‘if :
d. A is false but R is true. il

c W
This section contains 7 questions with internal choice in one question. The following
questions are very short answer type and carry 2 marks each. 54
}y. Write the TUPAC name of the following compounds: 2
e a. CH;O0CH;CH;
b. CH;CH=C(C1)CH; ;

20. How will you prepare ? (write chemical reaction):
a. Alkanes from unsaturated hydrocarbon

OR
b. Benzene from phenol
AA. Calculate the number of molecules and atoms present in 11.2 liters of oxygen gas ay NTP. 2
497 Calculate the wave length of an electron moving with a velocity of 2.05 X 107 . 2
i 5

23. a. State Hund,s rule.
b. Write the electronic configuration of Cu (Z2=29).
24. Explain why:
a. The ionization enthalpy of Boron is less than Berellium.

ore th

I3

b. Dehydrohalogenation of Chloro ethane.
¢. Friedel ~Crafis acylation of Benzene.
uznmmm of the following and also find the formal charge of each



.‘b |

Jx c. O3
130, Write short notes on the following with example
a. Isomeric effect
b. Hyperconjucation
¢. Functional isomerism
| OR
the following:
ine pH. Find the pH of a solution whose H30" concentration is 1.5 X107

.-,.. ;&f waher? If‘?“ﬂ' that the pHof H0is 7.
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s To mch equﬂibnm llitnumsﬂl?th“ the concentration of reé ¢
has to be equal?

b. When can aruacﬁbnraabhzﬁﬂuilﬁﬂﬁm’ IR K,
¢. Can a non reversible reaction reach equilibrium? Why?
d. Comment on the above two graph.
n‘ m 2L
i
.

can be classified into four main categories. Substitution,addition
reaction. Substitution reaction can be

d electrophilic substitution. Similarly
and dehydrohelogenation.

0‘ R 1) m H l~
reactions, elimination reaction and rearrangement

further classified into free radical, nucleophilic an
elimination reaction reaction can be in the form of dehydration

Answer the following questions: 4
a Halogenation of alkane is an example of which type of reaction”
b. Write the chemical equation for the reaction of haloalkanes with alcoholic KOH.

¢ Write the chemical equation for the reaction of alcohol with hot and conc H;S04?
d. What are electrophiles? Give example.

on:  2504(g),
ﬁ.hﬁrﬂum-.. (OCl(g)-=> 2NO(g) + Cly(g), Kc =3.75x 10° at 1069 K
ok o ;
35. Complete the following reactions: 5



+conc H2S04 & HNO3-———=

benzene

+Cl2 & AICI3

>

+ CH3Cl & AICI3——>




